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The figures in the margin indicate full marks
for the questions

S Answer either in English or in Assamese

1. Answer/Fill in the blanks of the following

(any seven) : 1x7=7
e fERY b f/a@ M oEd
(a) Write a definition of statistics.
oifdora Reaea o1 sigen foren |
(b) ____ is the most frequently occurring

score in a distribution.
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means interrelationship between
two or more variables.
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() Normal probability curve is

0

shaped.
A STl I Ricoc f

The curve that is more peaked than
normal probability curve is a
curve.
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2. Answer any four of the following questions :

2x4=8
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(@) Mention two advantages of frequency

(b)
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distribution table.
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Write two advantages of central
tendency.
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5 calculate median
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4. Answer any three of the following questions :
10x3=30

O TR R e ot Teg i

(@) Find out mean from the following
distribution :
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Class interval
IR F

45-49

Frequency
RARIEI)

40-44
35-39
30-34
25-29
2024
15-19

10-14
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5-9
N=350
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